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1. Ego operates based on this principle  

 1. Morality 

 2. Reality 

 3. Pleasure 

 4. Pain 

 ’ଅହଂ’ ଏହ ିନୀତ ିଆଧାରରର କାର୍ଯ୍ୟ କରର  

  ରନୈତକିତା

  ବାସ୍ତବତା

  ଆନନ୍ଦ 

  ର୍ଯନ୍ତ୍ରଣା


2. The ability of an individual to act purposefully, to think 

rationally and to deal effectively with the environment is  

 1. Interest 

 2. Attitude 

 3. Intelligence 

 4. Aptitude 

 ଉରେଶ୍ୟମୂଳକ ଭାବରର କାର୍ଯ୍ୟ କରିବା, ର୍ଯୁକ୍ତିର୍ଯୁକ୍ତ ଭାବରର ଚନି୍ତା କରିବା ଏବଂ 
ପରିରବଶ୍ ସହତି ପ୍ରଭାବଶ୍ାଳୀ ଭାବରର ମୁକାବଲିା କରିବା ପାଇଁ ଜରଣ ବୟକ୍ତିକୁ 
ଆବଶ୍ୟକୀୟ ଦକ୍ଷତା ରହଉଛ ି 

  ଆଗ୍ରହ

  ମନ ୋବୃତି୍ତ

  ବୁଦି୍ଧ 

  ପ୍ରବୃତି୍ତ







3. The early childhood stage is regarded as the age of  

 1. Exploratory 

 2. Gang age 

 3. Imitation 

 4. Fantasy 

 ଆଦ୍ୟବୋଲ୍ୟୋବସ୍ଥୋକୁ ଏପରି ମଧ୍ୟ କୁହୋଯୋଏ

  ଅନ େଷୀ ଅବସ୍ଥୋ

  ଗ୍ୟୋଙ୍ଗ   ଅବସ୍ଥୋ

  ଅ ୁକରଣ ଅବସ୍ଥୋ 

  ଦ୍ବିୋସ୍ୱପନ ଅବସ୍ଥୋ




4. Which of the following individual is a proponent of heredity as 

the exclusive factor influencing growth and development 

 1. Watson 

 2. Freeman 

 3. Bagley 

 4. Galton 

 ନମିନ ବୟକ୍ତିଙ୍କ ମଧ୍ୟରୁ ଯିଏ, ଅଭିବୃଦ୍ଧି ଏବଂ ବକିାଶ୍ରର ବଂଶ୍ୋ ୁକ୍ରମିକ ଏକମାତ୍ର 
କାରକ ଭାନବ  ସମର୍୍  କରିଥିନଲ୍  

  ୱାଟ୍ସନ୍   

  ଫି୍ରମୟାନ୍ 

  ବାଗ ନଲ୍ 

  ଗାଲଟନ୍







 

5. Bharathi wants to do Engineering, but she is afraid of failure. 

This type of conflict is 

 1. Approach - Approach 

 2. Approach - Avoidance 

 3. Avoidance - Avoidance 

 4. Double Approach - Avoidance 

 ଭାରତୀ ଇଞି୍ଜନୟିରିଂ କରିବାକୁ ଚାହଁୁଛ,ି କନୁି୍ତ ରସ ବଫିଳତାକୁ ଭୟ କରୁଛ ି। ଏହ ି
ପ୍ରକାରର ଦ୍ୱନ୍ଦ  

  ଉପୋଗ୍ମ – ଉପୋଗ୍ମ

  ଉପୋଗ୍ମ – ପରିହୋର

  ପରିହୋର - ପରିହୋର

  ଦ୍ୱଉିପୋଗ୍ମ – ପରିହୋର 


6. ‘Object permanence’ formed in this stage 

 1. Sensory motor stage 

 2. Pre operational stage 

 3. Concrete operational stage 

 4. Formal operational stage 

 ‘ବସୁ୍ତ ସି୍ଥରତ୍ୱ ଧୋରଣୋ’ ଏହ ିଅବସ୍ଥୋନର ସୃଷ୍ଟି ହୁଏ 
  ସନମେଦ୍ୀ ଚୋଳକ ଅବସ୍ଥୋ
  ପ୍ରୋକ ଚୋଳକ ଅବସ୍ଥୋ
  ମୂତ୍ତତ ପ୍ରଚୋଳକ ଅବସ୍ଥୋ
  ଅମୂତ୍ତତ ପ୍ରଚୋଳକ ଅବସ୍ଥୋ




 



 

 

 

7. According to Erikson the following stage of psycho-social 

developmental crisis found at the age of 12 to 20 years 

 1. Autonomy  Vs  Doubt 

 2. Initiative  Vs  Guilt 

 3. Identity  Vs  Role Confusion 

 4. Industry  Vs  Inferiority  

 ଏରିକ ସ ଙ୍କ ଅ ୁସୋନରବଷତ ବୟସନର ନଦ୍ଖୋଯିବୋ 
ମନ ୋସୋମୋଜକି ବକିୋଶ୍ର ସଙ୍କଟ ଅବସ୍ଥୋ 

  ସ୍ୱୋୟତ୍ତତୋ – ସନନ୍ଦହ 
  ପ୍ରଥମ ପଦ୍ନେପ - ଅପରୋଧ ଭୋବ ୋ
  ଚହି୍ନଟ – ଭୂମିକୋ ସନ୍ଦଗି୍ଧତୋ  
  ଶ୍ରମ –  ୁୟ ତୋ




8. Correct statement with regard to development 

 1. Quantitative 

 2. Changes are based on heridity 

 3. Related to physical changes 

 4. Comprehensive & wider 

 ବକିାଶ୍ ସମବନ୍ଧରର ସଠିକ୍ ଉକ୍ତିଟ ି

  ପରିମୋଣୋତ୍ମକ

  ସବୁ ପରିବର୍୍ତ୍ନ ବଂଶ୍ାନୁକ୍ରମିକ ଉପରର  ଭିତର କନର 
  ଶ୍ାରୀରିକ ପରିବର୍୍ତ୍ନ ସମବନ୍ଧୀୟ

  ସଂବୟାପକ ଏବଂ ବସୃି୍ତତ




9. One of the following is not a Projective Test 

 1. Ink blot Test 

 2. Thematic Apperception Test 

 3. Children’s Apperception Test 

 4. Bhatia Battery 

  ମିନ ମଧ୍ୟରୁ ଏହୋ ପ୍ରନେପୀ ପରୀେଣ  ୁନହେଁ 

  କୋଳ ିଛକୋ ପରୀେଣ 

  କଥୋ-ନକୈନ୍ଦ୍ରକି ସଂପ୍ରତୟେ ପରୀେଣ

  ଶ୍ିଶ୍ୁ-ନକୈନ୍ଦ୍ରକି ସଂପ୍ରତୟେ ପରୀେଣ

  ଭୋଟୟିୋ ବୟୋନଟରୀ


 

 

10. ‘Chatter Box’ stage of child’s development 

 1. Infancy 

 2. Early childhood 

 3. Late childhood 

 4. Adolescence 

 ବକିୋଶ୍ ଅବସ୍ଥୋନର ‘ବକରବକର ନହବୋ’ ଅବସ୍ଥୋ

  ନଶ୍ୈଶ୍ବ ଅବସ୍ଥୋ

  ଆଦ୍ୟ ବୋଲ୍ୟୋବସ୍ଥୋ

  ଉତ୍ତର ବୋଲ୍ୟୋବସ୍ଥୋ

  ନକୈନଶ୍ୋରୋବସ୍ଥୋ
 

 

 

 



11. Base for the proverb “We can lead a horse to the water but we  

cannot make it drink” is 

 1. Law of  Readiness 

 2. Law of  Effect 

 3. Law of  Excercise 

 4. Law of  Continuity 

 ’ନ ୋଡ଼ୋକୁ ପୋଣି ପୋଖକୁ ନ ଇପୋରିବୋ କନୁି୍ତ ପିଆଇପୋରିବୋ  ୋହିଁ’ -ଏହ ି
ଆଧୋରନର ନଲ୍ୋକବୋଣୀଟ ିପ୍ରଚଳତି

  ପ୍ରସୁ୍ତତ ି ୟିମ

  ଫଳୋଫଳ  ୟିମ

  ଅଭୟୋସ  ୟିମ

   ରିନ୍ତର  ୟିମ




12. Learning is 

 1. Simple and Goal oriented 

 2. Simple and Universal 

 3. Complex and Inactive 

 4. Complex and Active 

 ଶ୍ିେଣ ନହଉଛ ି
  ସରଳ ଏବଂ ଲକ୍ଷୟଭିରି୍ତ୍କ 
  ସରଳ ଏବଂ ସାବ୍ଜନୀନ
  ଜଟଳି ଓ ନଷି୍କ୍ରିୟ
  ଜଟଳି ଏବଂ ସକ୍ରିୟ 




 



13. The person who feels lying is bad, won’t lie. This kind of 

motivation is 

 1. Intrinsic Motivation 

 2. Achievement  Motivation 

 3. Extrinsic Motivation 

 4. Artificial  Motivation 

 ମିଛ କହବିୋ ମହୋପୋପ ନବୋଲି୍ ଭୋବୁଥିବୋ ବୟକ୍ତି କଦ୍ୋପି ମିଛ କନହ  ୋହିଁ । ଏହ ି
ରପ୍ରରଣଟି

  ଆଭୟନ୍ତରୀଣ ରପ୍ରରଣ

  କୃତ ିରପ୍ରରଣ

  ବାହୟ ରପ୍ରରଣ 

  କୃତି୍ରମ ରପ୍ରରଣ
 

14. The concepts of Latitudes and Longitudes are the examples of 

these concepts 

 a) Simple b) concrete c) abstract d) complex 

 1. a  &  b 

 2. a  &  c 

 3. b  &  d 

 4. c  &  d 

 ଅକ୍ଷାଂଶ୍ ଏବଂ ଦ୍ରାଘିମାର ଧାରଣା, ଏହ ିଧାରଣାଗୁଡକିର ଉଦାହରଣ  
a) ସରଳ  b) ମୂତ୍ତତ  c) ଅମୂତ୍ତତ   d) ଜଟଳି  

 1. a  ଏବଂ  b 

 2. a  ଏବଂ  c 

 3. b  ଏବଂ  d 

 4. c  ଏବଂ  d 

 

 



15. This theory states that similarity of contents or similarity of 

methods promotes transfer of learning 

 1. Theory of  formal discipline 

 2. Theory of  Identical elements 

 3. Theory of  Transposition 

 4. Theory of  Ideals 

 ଶ୍ିଖୁଥିବୋ ବଷିୟ ମଧ୍ୟନର କମିେୋ ପଦ୍ଧତ ିମଧ୍ୟନର କମିେୋ ସୋଦୃ୍ଶ୍ୟ ଫଳନର, 
ଶ୍ିେଣର ସ୍ଥୋ ୋନ୍ତରଣ  ଟଥିୋଏ ନବୋଲି୍ ଏହ ିତତ୍ତ୍ୱ ପ୍ରମୋଣିତ କନର

  ଔପଚୋରିକ ଶ୍ୃଙ୍ଖଳୋ ତତ୍ତ୍ୱ

  ସମରୂପ ଉପୋଦ୍ୋ  ତତ୍ତ୍ୱ

  ସ୍ଥୋ -ବ ିମିୟ ତତ୍ତ୍ୱ

  ଆଦ୍ଶ୍ତ ତତ୍ତ୍ୱ




16. Termination of the unconditional stimulus after conditioning 

leads to 

 1. Reinforcement 

 2. Spontaneous recovery 

 3. Extinction 

 4. Generalization 

 ପ୍ରସୀମ  ଗ୍ଠ  ପନର ଅଣ-ପ୍ରସୀମ  ଉଦ୍ଦୀପକ ନଯୋଗ୍ୋଇବୋ ବନ୍ଦ କରୋଗ୍ନଲ୍, 
ତୋହୋ ଏଥିକୁ ବୋଟ କଢ଼ୋଇଥୋଏ

  ପୁ ବତଳ  

  ସ୍ୱତଃ ସୂ୍ଫତ୍ତତ ପୁ ଃପ୍ରୋପି୍ତ

  ବଲୁି୍ପି୍ତକରଣ

  ସୋଧୋରଣୀକରଣ
 



 

 

17. The psychologist who first described the figure – ground 

relationship 

 1. Edgar Rubin 

 2. C.L. Morgan 

 3. Richard 

 4. Jerome Bruner 

 ‘ଆକୃତ-ିନେତ୍ର ସମେନ୍ଧ’କୁ ସବତ ପ୍ରଥନମ ବର୍ଣ୍ତ ୋ କରିଥିବୋ ମନ ୋବଜି୍ଞୋ ୀ
  ଏଡ ଗ୍ୋର  ରୁବନି୍
  ସି.ଏଲ . ନମୋଗ୍ତୋନ୍
  ରିଚୋଡତ
  ନଜନରୋମ  ବୁ ର
 

 

18. Symbols formed in the brain during the memory process 

 1. Neurograms 

 2. Neuro muscular grams 

 3. Polysomno grams 

 4. Neuro imaging grams 

 ସୃ୍ମତ ିପ୍ରକ୍ରିୟୋନର ମସି୍ତଷ୍କନର ଜୋତ ନହବୋ ପ୍ରତକି 

   ୁୟନରୋଗ୍ରୋମ ସ 

   ୁୟନରୋ ମୋସ କୁଲ୍ୋର  ଗ୍ରୋମ ସ  

  ପଲି୍ନସୋନମନୋ ଗ୍ରୋମ ସ 

   ୁୟନରୋ ଇନମଜଙି୍ଗ   ଗ୍ରୋମ ସ 








19. Type of learning involves in learning ‘State and Capitals’ 

 1. Rules learning 

 2. Generalization learning 

 3. Procedural learning 

 4. Factual learning 

 'ରାଜୟ ଓ ରାଜଧାନୀ' ଶ୍ିଖିବାରର  ହିତି ଶ୍ିକ୍ଷାର ପ୍ରକାର 

  ନୟିମର ଶ୍ିକ୍ଷଣ 
  ସାଧାରଣୀକରଣ ଶ୍ିକ୍ଷଣ

  ପ୍ରକ୍ରିୟାଗତ ଶ୍ିକ୍ଷଣ 
  ବାସ୍ତବକି ଶ୍ିକ୍ଷଣ 
 

 

20. One of the following does not belong to affetive domain 

 1. Responding 

 2. Valuing 

 3. Understanding 

 4. Characterization 

  ମିନ ମଧ୍ୟରୁ ନଗ୍ୋଟଏି ଆନବଗି୍କ ପରିସର ଅନ୍ତଭତୁ କ୍ତ  ୁନହେଁ
  ପ୍ରତକି୍ରିୟୋ ପ୍ରକୋଶ୍  
  ମୂଲ୍ୟନବୋଧ 
  ଅବନବୋଧ 
  ଚରିତ୍ରୋଙ୍କ  
 

 

 

 

 

 

 



21. The author of the book ‘Home – Schooling’ 

 1. Gijubai 

 2. John Holt 

 3. Makerenko 

 4. Paulo Freire 

 ‘Home – Schooling’  ୋମକ ପୁସ୍ତକର ନଲ୍ଖକ

  ଗି୍ଜୁବୋଇ

  ଜନ୍  ହଲ ଟ୍

  ମୋକନରନଙ୍କୋ

  ପୋନଲ୍ୋ ନେରିଆର 

 

 

 

22. “An infant boy’s recognition of his mother among other family 

members.” This learning belongs to 

 1. Verbal Learning 

 2. Perceptual Learning 

 3. Conceptual Learning 

 4. Discrimination Learning 

 ‘ନଶ୍ୈଶ୍ବୋସ୍ଥୋନର ଥିବୋ ବୋଳକ ଅ ୟ ପରିବୋର ସଦ୍ସୟଙ୍କ ମଧ୍ୟରୁ  ଜି ମୋଙୁ୍କ 
ଚହି୍ନବିୋ’ ଏକ 

  ଶ୍ୋବ୍ଦକି ଶ୍ିେଣ 

  ପ୍ରତୟେଣ ଶ୍ିେଣ

  ଧୋରଣୀୟ ଶ୍ିେଣ

  ବଚିେଣ ଶ୍ିେଣ  

 

 



 

23. The Prime Minister of India, who launched the ‘Digital India’ 

programme 

 1. Manmohan Singh 

 2. Vajpayee 

 3. Narendra Modi 

 4. Indira Gandhi 

 ‘ଡଜିଟିୋଲ  ଇଣି୍ଡଆ’ କୋଯତୟକ୍ରମକୁ  ଆରମ୍ଭ କରିଥିବୋ ଭୋରତ ପ୍ରଧୋ  ମନ୍ତ୍ରୀ

  ମ ନମୋହ  ସିଂ

  ବୋଜ ପୋୟୀ

   ନରନ୍ଦ୍ର ନମୋଦ୍ି

  ଇନ୍ଦରିୋ ଗ୍ୋନ୍ଧୀ 
 



 

24. One of the following is not an abstract concept 

 1. Justice 

 2. Honesty 

 3. Second 

 4. Green colour 

  ମିନ ମଧ୍ୟରୁ ଏହୋ ଅମୂତ୍ତତ ଧୋରଣୋ  ୁନହେଁ  
   ୟୋୟ
  ସନଚୋଟ
  ନସନକଣ୍ଡ
  ସବୁଜ ରଙ୍

 

 

 



 

25. One of the following belongs to first generation computers 

  ମିନ ମଧ୍ୟରୁ ପ୍ରଥମ ପିଢ଼ ି କମ୍ପ୍ୁୟଟର 

 1. EDVAL 

 2. CDC 1604 

 3. IBM 1401 

 4. IBM 1620 

 

 

 

26. 1 PB = 

 ନପଟୋ ବୋଇଟ୍  ମୂଲ୍ୟ 
 1. 1024 GB 

 2. 1024 TB 

 3. 1024 ZB 

 4. 1024 EB 

 

 

 

27. Year of launch of ‘VSNL’ services in India 

 ଭୋରତନର ‘VSNL’ ନସବୋ ଆରମ୍ଭ ନହବୋ ବଷତ 
 1. 1990 

 2. 2000 

 3. 1995 

 4. 1984 

 

 

 

 

 



28. The term ‘MOOC’ stands for 

 ‘MOOC’ କହନିଲ୍
 1. Massive Open Online Courses 

 2. Mass Online Open Courses 

 3. Mass Online Oriented Courses 

 4. Massive Online Opening Courses 



29. As per RTE - 2009, the number of teachers in a school of  

40 strength is 

 RTEଅ ୁସୋନର ବଦି୍ୟୋଳୟନର ଶ୍ିେୋଥତୀଙ୍କ ସଂଖୟୋ ଥିନଲ୍ 
ଶ୍ିେକଙ୍କ ସଂଖୟୋ 

 1. 1 

 2. 2 

 3. 3 

 4. 4 

 

30. As per NEP - 2020, the first 5 years of schooling is known as 

 1. Foundational 

 2. Preparatory 

 3. Middle 

 4. Primary 

 NEPଅ ୁସୋନର ପ୍ରଥମ 5 ବଷତର ଶ୍ିେୋକୁ ଏପରି କୁହୋଯୋଏ

  ଆ ୁଷ୍ଠୋ କି

  ପ୍ରସୁ୍ତତି

  ମଧ୍ୟ

  ପ୍ରୋଥମିକ 

 

 



 

31.  ନିମନୋକ୍ତ ପଦ୍ୟୋଂଶ୍ଟ ିପଢ଼ ିପ୍ରଶ୍ନର ଉତ୍ତର ଚହି୍ନଟ କର ।
 ଅଗ୍ୋଧ େୀରସିନୁ୍ଧ ଜନଳ 
 ଶ୍ୟ  ଅ ନ୍ତର ନକୋନଳ ।। 
 ପୋନଦ୍ ଖଟନ୍ତ ିନବ  ିୋରୀ 
 ସୁନଖ ଶ୍ୟ  ନଦ୍ବ ହରି  ।। 
 ପ୍ରଶ୍ନ: ଏଠୋନର ‘ଅ ନ୍ତ’ କହନିଲ୍ - 
  ଅସୀମ
  ବଷୁି୍ଣ
  ବୋସୁକୀ  
   ତିୟ

32.  ନିମନୋକ୍ତ ପଦ୍ୟୋଂଶ୍ଟ ିପଢ଼ ିପ୍ରଶ୍ନର ଉତ୍ତର ଚହି୍ନଟ କର । 
 ‘‘ମିଶ୍ୁ ନମୋର ନଦ୍ହ ଏନଦ୍ଶ୍ ମୋଟନିର 
 ନଦ୍ଶ୍ବୋସୀ ଚୋଲି୍ ଯୋଆନୁ୍ତ ପିଠିନର 
 ନଦ୍ଶ୍ର ସ୍ୱରୋଜୟ ପନଥ ନଯନତ ଗ୍ୋଡ଼ 
 ପୂରୁ ତହିଁ ପଡ଼ ିନମୋର ମୋଂସ ହୋଡ଼ ।’’ 
 ପ୍ରଶ୍ନ: ପଦ୍ୟୋଂଶ୍ଟନିର ଥିବୋ ‘ସ୍ୱରୋଜୟ ପଥ’ ଏହୋକୁ ବୁଝୋଉଅଛ ି- 
 1.  ସ୍ୱୋଧୀ ତୋ ପନ୍ଥୋ  

2.   ନିଜ ଅ ୁସରଣୀୟ ମୋଗ୍ତ  
3.  ରୋଜୟର ସଡ଼କମୋ  

4.  ରୋଜୟର ରୋଜ ପଥ 
 
 
 
 





33.  ମିନ ଗ୍ଦ୍ୟୋଂଶ୍ଟ ିପଢ଼,ି  ପ୍ରଶ୍ନର ଉତ୍ତର ଚହି୍ନଟ କର । 
 ଆଧୁ କି କହନିଲ୍ ବୁଝୋଯୋଏ ପ୍ରଗ୍ତଶି୍ୀଳ । ନତଣୁ ଆଧୁ କିତୋକୁ ସମନସ୍ତ 

ଅ ୁକରଣ କରିବୋକୁ ବୟଗ୍ର । କନୁି୍ତ ଅତ ି ପ୍ରୋଚୀ  ଅବୟବହତି ପ୍ରବୋହ ବଶି୍ିଷ୍ଟ 
ସମୋଜକୁ ଏକୋଥନର ଆଧୁ କି କରିବୋ ଅସମ୍ଭବ । ନଯଉେଁ ବପି୍ଳବ ବୋ ଯୁଦ୍ଧ ଦ୍ୱୋରୋ 
ପ୍ରୋଚୀ  ଧୋରୋ ଲୁ୍ପ୍ତ ନହୋଇଛ,ି ନସଠି ସଂପୂର୍ଣ୍ତ ଆଧୁ କିତୋ ଗ୍ଢ଼ ି ଉଠିଛ ି । 
ମିଶ୍ରର ପିରୋମିଡ  ସଭୟତୋ ଆଜ ି ଇତହିୋସର ବସୁ୍ତ । ନସଠୋକୋର ବତ୍ତତମୋ  
ଜୀବ  ଓ ପ୍ରୋଚୀ  ଜୀବ  ମଧ୍ୟନର ନଭଦ୍ ସୁସ୍ପଷ୍ଟ । 

 ପ୍ରଶ୍ନ: ଏହ ିସମୋଜକୁ ଏକୋଥରନକ ଆଧୁ କି କରିବୋ ଅସମ୍ଭବ - 
  ଧୋମିକ
  ପ୍ରୋଚୀ 
  ଭକ୍ତି
  ପ୍ରଗ୍ତଶି୍ୀଳ

34.  ମିନ ଗ୍ଦ୍ୟୋଂଶ୍ଟ ିପଢ଼ ିପ୍ରଶ୍ନର ଉତ୍ତର ଚହି୍ନଟ କର । 
 ଶ୍ୃଙ୍ଖଳୋ ନହଉଛ ିଆତ୍ମ  ୟିନ୍ତ୍ରଣ ଓ ଆତ୍ମ  ରି୍ଣ୍ତୟ । ଶ୍ୃଙ୍ଖଳତି ମୋ ବ ଜୀବ ନର 

ସବୁ ପ୍ରକୋରର ଉନ୍ନତ ି ସମ୍ଭବ ହୁଏ, ନଗ୍ୋଟଏି ଶ୍ୃଙ୍ଖଳିତ ଜୋତ ି ସମଗ୍ର ବଶି୍ୱନର 
ଆପଣୋର ସ୍ୱୋତନ୍ତ୍ରୟ ପ୍ରତପିୋଦ୍  କରିପୋନର । ଶ୍ୃଙ୍ଖଳୋ ବହିୀ  ଜୀବ ର କଛି ି
ମୋନ   ୋହିଁ । ଜୀବ  ଆରମ୍ଭରୁ ଛୋତ୍ରର ଶ୍ୃଙ୍ଖଳୋଜ୍ଞୋ  ରହନିଲ୍ ନସ ଏକ ସୁନ୍ଦର 
ଭବଷିୟତର ଅଧିକୋରୀ ନହୋଇପୋନର । 

 ପ୍ରଶ୍ନ: ଶ୍ୃଙ୍ଖଳତି ମୋ ବ ଜୀବ ନର ଏହୋ ସମ୍ଭବ ନହୋଇଥୋଏ - 
  ଶ୍ୃଙ୍ଖଳତି ଜୀବ 
  ବଭିିନ୍ନ ବଷିୟକ ଜ୍ଞୋ  ଆହରଣ
  ଆଦ୍ଶ୍ତ ଓ ନସବୋ ମନ ୋଭୋବ
  ସୋମଗି୍ରକ ବକିୋଶ୍ 
 
 
 
 

 

 



35. ‘‘ ୟୋୟ ବଚିୋର’’ ଗ୍ଳ୍ପର ଗ୍ୋଳ୍ପକି -
  ରୋଜକନିଶ୍ୋର ରୋୟ
  ସୁ ନ୍ଦ କର
  ଲ୍କ୍ଷ୍ମୀକୋନ୍ତ ମହୋପୋତ୍ର
  ସୁନରନ୍ଦ୍ର ମହୋନ୍ତି

36. ଏହ ି କବତିୋନର ମୋଆ  ଜି ପୁଅକୁ ଭବିଷୟତନର ଜନଣ ସୁନଯୋଗ୍ୟ ସନ୍ତୋ  

ନହବୋକୁ ଉଦ ନବୋଧ  ନଦ୍ଇଛନ୍ତ ି-  
1.  ନଛୋଟରୁ ବଡ଼ 

2.  ବୋଳୁତ ବୀର ନସ 

3.  କହବି ିକଥୋଟ ି 
4.  ମଣିଷ ଭୋଇ 

 
37. ଏହ ିକବ ିବରଗ୍ଡ଼ ଜଲି୍ଲୋର ବରପୋଲି୍ନର ଜ ମଗ୍ରହଣ କରିଥିନଲ୍ - 
  ନଗ୍ୋଦ୍ୋବରୀଶ୍ ମହୋପୋତ୍ର
  ନଗ୍ୋପବନୁ୍ଧ ଦ୍ୋସ
  ନଗ୍ୋଦ୍ୋବରୀଶ୍ ମିଶ୍ର 
  ଗ୍ଙ୍ୋଧର ନମନହର 

38. ‘ରମ୍ଭୋ’ ଶ୍ବ୍ଦଟରି ଅଥତ  - 
  କଦ୍ଳୀ
  ପିଜୁଳି
  ସୀତୋଫଳ 
  ଆମେ 
 








39. ‘‘ମୋରୁତ’’ – ଏହୋର ପ୍ରତଶି୍ବ୍ଦ    
  କୁଣ୍ଡଳୀ
  ବୋତ 
  େଣଦ୍ୋ
  ବୋରିଜ 

 

40. ‘‘ଜୀବ  ହୋରିବ ିଗ୍ଣ୍ଡ ଜନଳ ।’’ – ଏଥିନର ଥିବୋ ‘‘ଗ୍ଣ୍ଡ’’ ଶ୍ବ୍ଦଟରି ଭିନ୍ନୋଥତ ଏହୋ 
ନହବ - 

   ନିବତୋଧ
  ନଶ୍ରଷ୍ଠ
  ଶ୍ୋସି୍ତ
  ଶ୍ତୁ 
 

 

41. ‘ନତୋଷ’  - ଶ୍ବ୍ଦଟରି ବପିରୀତୋଥତନବୋଧକ ଶ୍ବ୍ଦଟି 
 1.  ତ୍ରୋସ 

 2. ନଶ୍ୋଷ 

 3.  ଯଶ୍ 

 4.  ନରୋଷ 
 

42. ‘ପରିଚ୍ଛଦ୍’ – ‘ପରିନଚ୍ଛଦ୍’ – ଏହ ିସନମୋଚୋରିତ ଶ୍ବ୍ଦର ଅଥତ ଯଥୋକ୍ରନମ - 
 1.  ଅ ୁନଚ୍ଛଦ୍ - ଅଧ୍ୟୋୟ 

 2. ବଭିୋଗ୍ - ବସ୍ତ୍ର 

 3.  ନପୋଷୋକ - ଅଧ୍ୟୋୟ 

 4.  ବୋସ  - ଗୃ୍ହ 
 
 

 



 

43.  ନିମନୋକ୍ତ ମଧ୍ୟରୁ ଶ୍ୁଦ୍ଧ ଶ୍ବ୍ଦଟ ି - 
  ଶ୍ୁଶ୍ୂସୋ
  ଶ୍ୁଶ୍ୁଷୋ
  ଶ୍ୂଶ୍ୂଷୋ
  ଶ୍ୁଶ୍ୂଷୋ
 
 

44.  ନିମନୋକ୍ତ ମଧ୍ୟରୁ ତତ୍ସମ ଶ୍ବ୍ଦଟି
  ସୁନ୍ଦର
   ୋଟ
   ଅର
  ଶ୍ିଆଳ 
 

  

45. ‘କୁଡ଼ୁଆ’ – ଏହୋ ଏକ  
1.  ପତ୍ତତୁ ଗ୍ୀଜ ଶ୍ବ୍ଦ 

2.  ଦ୍ରୋବଡ଼ି ଶ୍ବ୍ଦ  
3. ତୁକତୀ ଶ୍ବ୍ଦ 
4.  ପୋସତୀ ଶ୍ବ୍ଦ

 

46. ବୋକୟନର ବୟବହୋର କରୋଯୋଉଥିବୋ ମୂଳଶ୍ବ୍ଦନର କଛି ିଲ୍ୋଗି୍  ଥିବୋ ମୁକ୍ତ ରୂପକୁ 
ଏହୋ କୁହୋଯୋଏ -

  ପଦ୍ 
  ଧୋତୁ
  ପ୍ରୋତପିଦ୍କି  
  ଶ୍ବ୍ଦ
 

 

 



47. ବନିଶ୍ଷୟ ପଦ୍  ନିମନୋକ୍ତ ଭୋଗ୍ନର ବଭିକ୍ତ -
  ପୋଞ୍ଚ
  ଛଅ
  ସୋତ
  ଚୋରି
 

48.  ନିମନୋକ୍ତ ମଧ୍ୟରୁ ଜୋତବିୋଚକ ବନିଶ୍ଷୟ ପଦ୍ଟ ି-
  ରୋଧୋ ୋଥ
  ଶ୍ରୀମନ୍ଦରି
  ଓଡ଼ଆି 
  ମନ୍ଦରି  
 



49. ନଶ୍ୱତନକତୁଙୁ୍କ ଶ୍ିେୋଦ୍ୋ  କରିବୋ ପୋଇେଁ ଉଦ୍ଦୋଳକ  ‘‘ସଦ୍ଚି୍ଛୋ’’  ପ୍ରକୋଶ୍ କରିଥିନଲ୍ । 
- ଏଥିନର ଥିବୋ ‘ସଦ୍ଚି୍ଛୋ’’ ପଦ୍ଟରି ସନ୍ଧବିନିଚ୍ଛଦ୍ କନଲ୍ ଏହୋ ଠିକ  ନହବ - 

  ସଦ  + ଇଛୋ
  ସଦ  + ଇଚ୍ଛୋ
  ସତ  + ଇଚ୍ଛୋ
  ସତ  + ଇଛୋ 
 
50. ‘‘ନଭୋ + ଅ ’’ – ଏହୋର ଠିକ  ସନ୍ଧ ିଶ୍ବ୍ଦଟ ି-
  ନଭୋଜ 
  ଭବ  
  ନଭୋଅ 
  ଭୁବ  
 



51. ଜ ଶ୍ୂ ୟ ସ୍ଥୋ ନର ନବଶ୍ୀ ସମୟ ରହନିହବ  ୋହିଁ ।  - ଏଥିନର ଥିବୋ 
‘‘ଜ ଶ୍ୂ ୟ’’ ସ୍ଥୋ ନର ସମୋ  ଅଥତନବୋଧକ ଏହ ି ବସିଗ୍ତ ସନ୍ଧ ି ଜ ିତ ପଦ୍ଟ ି
ବୟବହୋର କରିବୋ ଠିକ  ନହବ - 

   ଜିତ 
   ଜି 
   ଃିଜ 
   ଃିଜତ  
 
52. ଏହ ିସମୋସନର ପ୍ରନତୟକ ପଦ୍ର ଅଥତ ପ୍ରଧୋ  ନହୋଇଥୋଏ -
  ଅବୟୟୀଭୋବ 
  କମତଧୋରୟ
  ଦ୍ୱଗୁି୍
  ଦ୍ୱନ୍ଦ୍ୱ  
 
53. ‘‘ପୋଦ୍ପଦ୍ମ’’ – ଏହ ିସମୋସର ଅନ୍ତଭତୁ କ୍ତ
  ଉପମିତ କମତଧୋରୟ
  ମଧ୍ୟପଦ୍ ନଲ୍ୋପୀ କମତଧୋରୟ
  ବହୁବ୍ରୀହି
  ଉପମୋ  କମତଧୋରୟ 
 
 
54. ‘‘ମହୋନ୍  ନତଜ ଯୋହୋର’’ – ଏହୋର ଠିକ  ସମସ୍ତ ପଦ୍ଟ ି 
  ମହୋନ୍ ନତଜୋ
  ମହୋନତଜ
  ମହୋନତଜୋ 
  ମହୋନତଜବୋନ୍ 




    



55. ଏହ ି ଛନ୍ଦନର ଦୁ୍ଇ ପୋଦ୍ନର ଏକ ପଦ୍ ହୁଏ ଏବଂ ପ୍ରତ ି ପୋଦ୍ନର ନଷୋହଳଟ ି
ଅେର ଥୋଏ -

   ଟବୋଣୀ
  ଶ୍ଙ୍କରୋଭରଣ
  ନଚୋଖି
  ରୋମନକରୀ 
 


56. ଏହ ିଛନ୍ଦନର ପ୍ରଥମ ଏବଂ ଦ୍ୱତିୀୟ ପୋଦ୍ର ଷଷ୍ଠ, ଦ୍ୱୋଦ୍ଶ୍, ଅଷ୍ଟୋଦ୍ଶ୍ ଏବଂ ନଶ୍ଷ 
ଅେର ଉପନର ଯତପିୋତ ହୁଏ -

  ଦ୍ୋଣି୍ଡବୃତ୍ତ 
  ବଙ୍ଳୋଶ୍ରୀ
  ଭୋଗ୍ବତବୋଣୀ
  ଗୁ୍ଜ୍ଜରୀ 
 
 
57.  ନିମନୋକ୍ତ ମଧ୍ୟରୁ ଉପମୋବୋଚକ ଶ୍ବ୍ଦଟ ି-
  ଅବୋ
  ସନତକି
  ପରି 
  ନବୋନଧ 
 
 
58. ଭିନ୍ନୋଥତନବୋଧକ ଏକ ପ୍ରକୋର ଶ୍ବ୍ଦର ବୋରମେୋର ଆବୃତି୍ତକୁ ଏହ ି ଅଳଙ୍କୋର 

କୁହୋଯୋଏ - 
  ଉପମୋ 
  ନେଷ
  ଅ ୁପ୍ରୋସ
  ଯମକ



 
59. ନଗ୍ୋଟଏି ମୋତ୍ର ସମୋପିକ କ୍ରିୟୋ ଥିବୋ ବୋକୟକୁ ଏହ ିବୋକୟ କୁହୋଯୋଏ - 
  ନଯୌଗି୍କ
  ସରଳ 
  ଜଟଳି 
  ମିଶ୍ର 
 
60. ‘‘ଏ ବଷତ ପ୍ରବଳ ବଷତୋ ନହୋଇଛ ି।’’ – ଏହୋ ଏକ   
  ବବୃିତସିୂଚକ ବୋକୟ
   ୋସି୍ତସୂଚକ ବୋକୟ
  ବସି୍ମୟସୂଚକ ବୋକୟ
  ପ୍ରଶ୍ନସୂଚକ ବୋକୟ 
 

 
61. While Einstein was solving the most difficult problems in 

Physics, his private life was unravelling. 

 Identify the synonym of ‘unravelling’. 

 1. entangling 

 2. twisting 

 3. confusing 

 4. solving


62. One day she noticed a girl playing a xylophone and decided that 

she wanted to play it too. 

 Identify the antonym of ‘noticed’ in the context of the sentence. 

 1. overlooked 

 2. observed 

 3. participated 

 4. removed





63. The movie ________ by the critics as one of the best of the year. 

 Identify the best option that fits the blank. 

 1. is been praised 

 2. was praised 

 3. praises 

 4. has praised 



64. Choose the correct prefix for the word ‘connect’ to mean ‘not 

connect’. 

 1. in - 

 2. dis - 

 3. re - 

 4. over - 
 

65. Her performance was amazing; she really hit the nail on the head 

with her portrayal of the character. 

 Identify the meaning of ‘hit the nail on the head’ in the above 

sentence. 

 1. to describe something accurately 

 2. to miss an opportunity 

 3. to be physically accurate 

 4. to solve a problem quickly


66. Choose what ‘get along’ means: 

 1. to tight 

 2. to ignore 

 3. to have a good relationship 

 4. to disagree




67. Identify the word that comes first in an alphabetically ordered 

dictionary: 

 1. Elevator 

 2. Elephant 

 3. Elegant 

 4. Election 





68. Identify the sentence that correctly uses commas to separate 

items in a list: 

 1. We need milk, bread and, eggs. 

 2. We need, milk, bread, and, eggs. 

 3. We need milk, bread, and eggs. 

 4. We, need, milk bread and eggs. 

 

 

69. Despite the train being late, Preetha waited for the train. 

 Choose the sentence that correctly converts the simple sentence 

into a compound sentence: 

 1. The train was late, though Preetha waited for it. 

 2. Preetha waited for the train because it was late. 

 3. Preetha not wait for the train despite it being late. 

 4. The train was late, but Preetha waited for it. 

 

70. Identify the grammatically correct sentence: 

 1. Each of the cars are fast. 

 2. Each of the cars is fast. 

 3. Each of the car are fast. 

 4. Each the car is fast.
 

 



71. Choose the sentence that provides factual information: 

 1. Can you help me with this project? 

 2. The sun rises in the east 

 3. Wow, that was fun! 

 4. Please turn off the lights. 



72. Identify the correct spelling of the word 

 1. rhythym 

 2. rythm 

 3. rhythim 

 4. rhythm 





73. She said, “I went to the market yesterday.” Choose the correct 

indirect speech: 

 1. She said that she had gone to the market the previous day. 

 2. She said that she goes to the market yesterday 

 3. She said that she has gone to the market the previous day. 

 4. She said that she goes to the market the previous day 


 

74. If you don’t follow the traffic rules, you will be punished. 

 Choose the correct type of conditional clause:  

 1. Zero conditional 

 2. First conditional  

 3. Second conditional 

 4. Third conditional 

 


 



75. One of the following is the term for a person who believes in the 

presence of God: 

 1. Atheist 

 2. Theist 

 3. Agnostic 

 4. Pantheist 


 

76. Abstract nouns and uncountable nouns are considered _______ 

subjects. 

 Choose the option that fits the blank. 

 1. dual 

 2. multiple 

 3. singular 

 4. plural
 

77. Choose the correct example of a declarative sentence: 

 1. Are you going to the store? 

 2. Please pass the book. 

 3. The sky is clear today. 

 4. What a beautiful view!
 

78. The company is expanding its operations. 

 ___________, it is hiring more staff to meet the demand. Choose 

the linker that fits the blank. 

 1. Despite 

 2. Similarly 

 3. Hence 

 4. Nevertheless 

 





79. Select the sentence where the definite article is used before 

nouns of new papers and magazines. 

 1. The Indian Express 

 2. The Indian Railways 

 3. The boy who is reading a magazine. 

 4. The girl who is selling newspapers. 

 

80. “__________ you let me know if you’re coming?” 

 1. Should 

 2. Must 

 3. Could 

 4. Can
 

81. Identify the sentence that correctly uses a predicate nominative. 

 1. He is a fast runner. 

 2. They quickly ran to the shore. 

 3. The winner of the race is she. 

 4. The cake tastes sweetly. 

 

82. Identify the sentence that uses an adjective to modify a noun 

correctly. 

 1. She sang the song beautifully. 

 2. The beautiful garden is full of flowers.  

 3. The quickly fox jumped over the fence. 

 4. He runs every morning. 

 

83. To reflect on what you have learned from the day’s events, you 

should include _______ in your diary entry. 

 1. a list of people you met. 

 2. Personal reflections and lessons learned. 

 3. details about upcoming events 

 4. a summary of your work achievements. 



 

84. One of the following should be included in the heading of an 

invitation. Choose your option. 

 1. RSVP details 

 2. contact information 

 3. venue address 

 4. event purpose or title  

 

85. Identify the sentence in the present perfect tense: 

 1. She is singing a song. 

 2. They will arrive soon. 

 3. He has written a letter. 

 4. I was reading a book.
 

86. She will be waiting for you at the station. 

 Identify the tense of the sentence:  

 1. Simple future tense 

 2. Future Continuous tense 

 3. Future Perfect tense 

 4. Future Perfect Continuous tense
 

87. The cat is _________ the house. 

 Choose the option that fits the blank. 

 1. due to 

 2. outside of 

 3. on behalf of 

 4. on account of
 

  



88. The concert was cancelled __________ bad weather. 

 Choose the preposition that fits the blank. 

 1. owing to 

 2. in view of 

 3. in back of 

 4. out of  


89. Read the passage carefully. 

 Public transportation in India faces challenges such as 

overcrowding, underfunding, and poor infrastructure, 

particularly in growing urban areas. Inadequate transportation 

affects daily commuting and economic opportunities, especially 

for low-income individuals. Enhancing public transportation 

systems and investing in infrastructure improvements are crucial 

for better mobility and accessibility. 

 Identify a key issue with public transportation in India. 

 1. overfunding 

 2. effective management 

 3. poor infrastructure 

 4. reduced demand
 

  



90. Read the passage carefully. 

 Public transportation in India faces challenges such as 

overcrowding, underfunding, and poor infrastructure, 

particularly in growing urban areas. Inadequate transportation 

affects daily commuting and economic opportunities, especially 

for low-income individuals. Enhancing public transportation 

systems and investing in infrastructure improvements are crucial 

for better mobility and accessibility. 

 Investing in __________ improvements is crucial for better 

public transportation 

 Choose the option that fits the blank. 

 1. technology 

 2. legal 

 3. environment 

 4. infrastructure 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



  
 

91. ΔDEF~ΔABC  and their areas are respectively 64cm2 and 

121cm2, EF=15.4cm, then BC =   (in cms)    

 ΔDEF~ΔABC   ଏବଂ  ନସଗୁ୍ଡ଼କିର ନେତ୍ରଫଳ ଯଥୋକ୍ରନମ ବ.ନସ.ମି. 
ଏବଂ ବ.ନସ.ମି. EFନସ.ମି., ନତନବBC =
ନସ.ମି. ନର)

 1. 11 

 2. 8 

 3. 11.2 

 4. 8.4  

  

92. If 21
Cos

Sin1
+=

+




then the value of )1(  SinSec − is   

 21
Cos

Sin1
+=

+



 ,ନତନବ )1(  SinSec − ର ମୂଲ୍ୟ

 1. 21−  

 2. 12 −  

 3. 21−−  

 4. 21+  

  



93. Sum of roots of quadratic equation 2𝑥2 − 2√2 𝑥 + 1 = 0is  

 ବଗ୍ତ ସମୀକରଣ 2𝑥2 − 2√2 𝑥 + 1 = 0 ର ମୂଳଗୁ୍ଡ଼କିର ନମୋଟ 
 1. 2 

 2. 2  

 3. 2−  

 4. 2−  

 

94. The least number which when divided by 15,16 and 18 leaves a 

remainder 4 in each case is 

 ଏବଂସହ ବଭିୋଜତି କରିବୋନବନଳ ପ୍ରନତୟକ ସନ୍ଦଭତନର ଭୋଗ୍ନଶ୍ଷ 
ଆସିଥିବୋ େୁଦ୍ରତ୍ତମ ସଂଖୟୋଟି
1. 556 

 2.  564  

 3.  716  

 4.  724   

 

95. If tan (A ̶ B) = 
3

1
 and Sin(A+B) = Cos(A+B). 

A−B and A+B are acute angles, then the angle A is  

 ଯଦ୍ ିtan (A ̶ B) = 
3

1
 ଏବଂ Sin(A+B) = Cos(A+B) । 

A−BଏବଂA+B ଗୁ୍ଡ଼କି ସୂକ୍ଷ୍ମନକୋଣ ନହନଲ୍, ନକୋଣAର ମୂଲ୍ୟ 

 1. 0
2

17  

 2. 0
2

115  

 3. 0
2

129  

 4. 0
2

137  

 
  



96. If the following pair of linear equations have infinitely many 

solutions then p = _____ 

 ମିନ ନରୈଖିକ ସମୀକରଣ ନଯୋଡ଼କୁି ଅ ନ୍ତ ସମୋଧ  ରହଥିିନଲ୍p = _____
px+3y−(p-3) = 0 ; 12x+py−p = 0   

 1. − 6 

 2. 6,− 6 

 3. 6 

 4. 36  

 

97. The sum of either pair of opposite angles of a cyclic   

 quadrilateral is ___

ନଗ୍ୋଟଏି ଚକ୍ରିୟ ଚତୁଭତୁ ଜନର ନଯନକୌଣସି ଦୁ୍ଇଟ ିସମୁ୍ମଖୀ  ନକୋଣଗୁ୍ଡ଼କିର 
ନମୋଟ___ 

 1. 2  

 2.   

 3. 
3


 

 4. 
4


   

 

98. Number of zeroes of the polynomial  

represented by the adjacent graph is  

ପୋଶ୍ୱତ ଚତି୍ରର ଗ୍ରୋଫ  ସୂଚୋଉଥିବୋ ବହୁପଦ୍ୀର 
ଶ୍ୂ ୟଗୁ୍ଡ଼କି ସଂଖୟୋ___  

 1. 4 

 2. 3 

 3. 2 

 4. 1 

 
  



99. The complementary angle of (x+3) is (2x). Then x =  

 ନକୋଣ (x+3) ର ଅ ୁପୂରକ ନକୋଣ(2x) , ନତନବx = 

 1. 28 

 2. 29 

 3. 31 

 4. 33 


100. Identify the FALSE statement  

 1. The two points (−a,b) and (a,−b) are equidistant from  

  origin  

 2. The distance of the point (a,b) from y-axis is ‘b’ units 

 3. If x<0 and y>0 then (−x,y) lies in Quadrant-I  

 4. Equation of x-axis is “y = 0” 

 ଅସତୟ ଉକ୍ତିଟ ିଚହି୍ନଟ କର । 

  ଦୁ୍ଇଟ ିବନୁି୍ଦ (−a,b) ଏବଂ (a,−b)ଗୁ୍ଡ଼କି ମୂଳ ବନୁି୍ଦରୁ ସମଦୂ୍ରବତ୍ତତୀ

  yଅେରୁ  (a,b) ବନୁି୍ଦର ଦୂ୍ରତୋ‘b’ଏକକ

  ଯଦ୍ ିx<0ଏବଂ y>0 , ନତନବ(−x,y) ପ୍ରଥମ ପୋଦ୍ନର ଅବସ୍ଥିତ

  xଅେ ର ସମୀକଣଟ ି “ y = 0 ”


  



101. ,.......4,22,2 is a Geometric progression. In this GP,10th term  

is ____ 

 ,.......4,22,2  ଏକ ଗୁ୍ନଣୋତ୍ତର ପ୍ରଗ୍ତରିମ ପଦ୍ଟ_ି__ 

 1. 32 2       

 2. 32 

 3. 16 2  

 4. 16 

     

102. The smallest natural number by which 3136 must be multiplied 

to get a perfect cube is _____  

 ସଂପୂର୍ଣ୍ତ    ପୋଇବୋ ପୋଇେଁକୁ ଗୁ୍ଣ  କରିବୋକୁ ପଡ଼ୁଥିବୋ େୁଦ୍ରତ୍ତମ 
ଗ୍ଣ  ସଂଖୟୋ____ 

 1. 2 

 2. 3 

 3. 5 

 4.  7  

 

103. A circle with radius ‘a’ units inscribed in a square. Suppose a die 

dropped on the square region then the probability that is will land 

inside the circle is (take 
7

22
=  ) 

  ‘a’ ଏକକ ବୟୋସୋଦ୍ଧତ ବଶି୍ିଷ୍ଟ ନଗ୍ୋଟଏି ବୃତ୍ତକୁ ଏକ ବଗ୍ତନେତ୍ରନର ଅନ୍ତଃଲି୍ଖ  
କରୋଯୋଇଛ ି। ଏକ ଲୁ୍ଡୁନଗ୍ୋଟକୁି ବଗ୍ତ ନେତ୍ର ଅଞ୍ଚଳନର ଗ୍ଡ଼ୋଇବୋନବନଳ ତୋହୋ 

ବୃତ୍ତନର ପଡ଼ବିୋ ସମ୍ଭୋବୟତୋ(
7

22
=  ଅି )   

 1. 
7

11
 

 2. 
14

11
 

 3. 
7

2
 

 4.  
22

7
 



  

104. A cone of height 10cm and radius of base 5cm is made up of 

modeling clay. A child reshapes it in the form of a hemisphere. 

Then the radius of hemisphere is ______    

 1. 3cm  

 2. 4cm 

 3. 5cm  

 4. 6cm   

 ମୋଟଗୁି୍ଳୋ ଦ୍ୱୋରୋ ନସ.ମି. ଉଚତୋ ଏବଂ ନସ.ମି. ବୟୋସୋଦ୍ଧତ ବଶି୍ିଷ୍ଟ ଶ୍ଙୁ୍କ 
ତଆିରି କରୋଗ୍ଲ୍ୋ । ପିଲ୍ୋଟଏି ଏହ ିଆକୋରକୁ ଏକ ଅଦ୍ଧତନଗ୍ୋଲ୍କନର ପରିଣତ 
କଲ୍ୋ । ନତନବ ନସହ ିଅଦ୍ଧତନଗ୍ୋଲ୍କର ବୟୋସୋଦ୍ଧତ______ 

 1. 3 ନସ.ମି. 

 2. 4 ନସ.ମି. 

 3. 5 ନସ.ମି. 

 4. 6 ନସ.ମି. 
 

105. Identify the FALSE statement  

 1. 1 lakh = 1000 hundreds  

 2. 1 crore = 1000 thousands 

 3. 1 million = 10 lakhs 

 4. 1 crore = 10 million 

 ଅସତୟ ଉକ୍ତିଟକୁି ଚହି୍ନଟ କର 

 1. 1 ଲ୍େ = 1000 ଶ୍ହ 

 2. 1 ନକୋଟ ି= 1000 ହଜୋର 

 3. 1 ମିଲି୍ୟ  = 10 ଲ୍େ 

 4. 1 ନକୋଟ ି= 10 ମିଲି୍ୟନ୍ 
 



106. The value of %
2

1
12  of 64  

 64 ର  %
2

1
12   ମୂଲ୍ୟ___ 

 1. 7                                    

 2. 
2

25
 

 3. 16 

 4. 8  

 

107. Mode of certain observations is K. If each observation is 

decreased by 2, then the mode of the new data is  

 ନକନତକ ପଯତୟନବେଣଗୁ୍ଡ଼କିର ଗ୍ରିଷ୍ଠକ K। ପ୍ରନତୟକ ପଯତୟନବେଣରୁ
ହ୍ରୋସ କନଲ୍,  ୂତ  ତଥୟର ଗ୍ରିଷ୍ଠକ 

 1. K  

 2. K−2 

 3. 2K
 

 

 4. K+2 

 

108. The perimeter of a rectangle is 10cm and length is 2.4cm, then 

breadth is  

 1. 7.6cm 

 2. 5.2cm 

 3. 2.6cm 

 4. 5cm  

 ନଗ୍ୋଟଏି ଆୟତନେତ୍ରର ପରିସୀମୋ ନସ.ମି. ଏବଂ ନଦ୍ୈ ତୟ ନସ.ମି. 
ନତନବ ପ୍ରସ୍ଥ___ 

 1. 7.6 ନସ.ମି. 
 2. 5.2 ନସ.ମି. 
 3. 2.6 ନସ.ମି. 
 4. 5  ନସ.ମି. 



109. If three points (4,p),(5,6) and (6,8) are collinear. Then value of 

‘p’ is _____ 

 ଯଦ୍ ିତନି ୋଟ ିବନୁି୍ଦ (4,p),(5,6) ଏବଂଗୁ୍ଡ଼କି ସରଳନରୈଖିକ ବନୁି୍ଦ, 
ନତନବ ‘p’ର ମୂଲ୍ୟ  

 1. − 2 

 2. − 4 

 3. 4 

 4. 2  

 

110. The mean of 11 observations is 40. If the mean of first six 

observations is 35 and the mean of last six observations is 42 

then the sixth observation is   

 ଟି ପଯତୟନବେଣଗୁ୍ଡ଼ିକର ମୋଧ୍ୟମୋ । ଯଦି୍ ପ୍ରଥମ ଛଅଟି ପଯତୟନବେଣଗୁ୍ଡ଼ିକର 
ମୋଧ୍ୟମୋ  ଏବଂ ନଶ୍ଷ ଛଅଟି ପଯତୟନବେଣଗୁ୍ଡ଼ିକର ମୋଧ୍ୟମୋ  ହୁଏ, ନତନବ 
ଷଷ୍ଠତମ ପଯତୟନବେଣଟି 

 1. 37 

 2. 33 

 3. 47 

 4. 22  

 

 

 

 

 

 

 

 

 

 





111. The area of a rhombus is (x2+5x+6)cm2 and one of the diagonal 

is (x+2)cm, then the second diagonal is ___   

 1. 2(x+1)cm 

 2. (x+2)cm 

 3. 2(x+3)cm 

 4. (x+3)cm 

 ନଗ୍ୋଟଏି ରମେସ ର ନେତ୍ରଫଳ x2+5x+6 ) ବ.ନସ.ମି.. ଏବଂ ନଗ୍ୋଟଏି କର୍ଣ୍ତର 
ନଦ୍ୈ ତୟ(x+2) ନସ.ମି.,ନତନବ ଦ୍ୱତିୀୟ କର୍ଣ୍ତର ନଦ୍ୈ ତୟ___ 

 1. 2(x+1) ନସ.ମି. 

 2. (x+2) ନସ.ମି. 

 3. 2(x+3) ନସ.ମି. 

 4. (x+3) ନସ.ମି.  



112. Match the following 

  (a) 
7

5

5

2

2

3

5

2

7

5

2

3

5

2
+=








+   (i) Associative law 

 (b) 
3

5

3

5
0

3

5

3

5
+







 −
==







 −
+   (ii) Distributive law 

 (c)  
5

3

2

7

2

7

5

3
=    (iii) Additive inverse  

              property 

 (d) 
6

5

2

7

3

2

6

5

2

7

3

2
+







+=








++  (iv) Commutative law   

  ମିନଗୁ୍ଡ଼କୁି ନଯୋଡ଼ 

 (a) 
7

5

5

2

2

3

5

2

7

5

2

3

5

2
+=








+   (i) ସହନଯୋଗ୍ୀ ଧମତ 

 (b) 
3

5

3

5
0

3

5

3

5
+







 −
==







 −
+   (ii) ବଣ୍ଟ   ୟିମ 

 (c)  
5

3

2

7

2

7

5

3
=    (iii) ନଯୋଗ୍ୋତ୍ମକ ବନିଲ୍ୋମୀ ଧମତ 

 (d) 
6

5

2

7

3

2

6

5

2

7

3

2
+







+=








++  (iv) କ୍ରମବ ିମିୟ ଧମତ 

  1. a-ii, b-i, c-iii, d-iv 

 2. a-iii, b-ii, c-i, d-iv  

 3. a-ii, b-iii, c-iv, d-i   

 4. a-iii, b-i, c-ii, d-iv  

 


  



113. 15% of 20+20% of 30 = x% of 50 then x =  

 ରରର x%ନତନବx =

 1. 16 

 2. 17 

 3. 19 

 4. 18  

 

114. If two dice are rolled simultaneously then the probability of 

getting odd numbers on both dice is  

 ଏକୋଥନର ଦୁ୍ଇଟ ିଲୁ୍ଡୁନଗ୍ୋଟ ିଗ୍ଡ଼ୋଇବୋନବନଳ, ଉଭୟ ଦୁ୍ଇଟ ିଉପନର ଅଯୁଗ୍ମ 
ସଂଖୟୋ ଆସିବୋର ସମ୍ଭୋବୟତୋ 

 1. 
4

1
 

 2. 
4

3
 

 3. 
9

1
 

 4. 
9

2

  

 

  



115. “The knowledge of numbers, mass and measurement is the 

mathematics”. This definition is given by   

 1. Bell 

 2. Pascal 

 3. Russel 

 4. Peirce   

 ‘ସଂଖୟୋ, ବସୁ୍ତତ୍ୱ ଏବଂ ମୋପ ର ଜ୍ଞୋ  ହିଁ ଗ୍ଣିତ’ ଏହ ିସଂଜ୍ଞୋ ପ୍ରଦ୍ୋ କୋରୀ 

  ନବଲ

  ପୋସ୍କୋଲ

  ରନସଲ

  ପିୟସ ତ


116. “Among different closed figures having same perimeter, circle 

has the highest area”. This is proved by  

 1. Euclid  

 2. Archimedes  

 3. Ptolemy  

 4. Pythagoras  

 

 ‘‘ସମୋ  ପରିସୀମୋ ବଶି୍ିଷ୍ଟ ସମସ୍ତ ପ୍ରକୋର ଆବଦ୍ଧ ଚତି୍ରନର ବୃତ୍ତ ଅଧିକ 
ନେତ୍ରଫଳ ଧୋରଣ କରିଥୋଏ’’ ଏହୋ  ରୂିପଣ କରିଥିବୋ ବୟକ୍ତି 

  ୟୂକିିଡ

  ଆକନିମଡସି

  ନଟୋଲ୍ମୀ

  ପୋଇଥୋଗ୍ରସ










117. ‘The learner, understands the method of solving problems’. This 

belongs to the following academic standard 

 1. Problem-solving 

 2. Reasoning - proofs 

 3. Communication 

 4. Connection  

 ‘ଶ୍ିେୋଥତୀ, ସମସୟୋ ସମୋଧୋ  ପଦ୍ଧତ ିବୁଝପିୋରିବୋ’ – ଏହ ିଶ୍ିେୋମୋ ନର 
ଅନ୍ତଭତୁ କ୍ତ 

  ସମସୟୋ ସମୋଧୋ 

  କୋରଣ କହବିୋ –  ରୂିପଣ କରିବୋ

  ଅଭିବୟକ୍ତ

  ସଂନଯୋଜ 


118. According to Herbart’s, this step should take place before 

‘Generalization’ in lesson plan preparation.   

 1. Application  

 2. Presentation  

 3. Association  

 4. Recapitulation  

 ହବତଟ୍ ଙ୍କ ଅ ୁଯୋୟୀ ପୋଠୟନଯୋଜ ୋ ପ୍ରସୁ୍ତତନିର ‘ସୋଧୋରଣୀକରଣ’ ପୂବତନର 
ଆସିବୋ ନସୋପୋ ଟି

  ପ୍ରନୟୋଗ୍

  ଉପସ୍ଥୋପ 

  ସହଚର

  ପୁ ରୋବୃତି୍ତ





 

 

119. Assessment is  

a) Quantitative  b) Qualitative  

 1. Only (a) correct 

 2. Only (b) correct  

 3. (a) and (b) are not correct 

 4. (a) and (b) both are correct 

  ଆକଳ  କହନିଲ୍

 a) ପରିମୋଣୋତ୍ମକ  b) ଗୁ୍ଣୋତ୍ମକ  

  1. ନକବଳ (a) ଠିକ 

 2. ନକବଳ (b)  ଠିକ 

 3. ଉଭୟ (a) ଏବଂ (b) ଠିକ   ୁନହେଁ 

 4. ଉଭୟ (a) ଏବଂ (b) ଠିକ 
  

  

120. One of the following is related to Inductive approach  

 1. Abstract to concrete  

 2.  From general to specific 

 3.  Generalization from observations  

 4. Tests Formulae  

  ମିନ ମଧ୍ୟରୁ ନଗ୍ୋଟଏି ଆନରୋହୀ ଉପୋଗ୍ମ ସହ ସମେନ୍ଧତି 

  ଅମୂତ୍ତତ ରୁ ମୂତ୍ତତ

  ସୋଧୋରଣ ରୁ  ଦି୍ଦିଷ୍ଟ 

  ପଯତୟନବେଣ ରୁ ସୋଧୋରଣୀକରଣ

  ସୂତ୍ରଗୁ୍ଡ଼କିର ପରୀେଣ



121. To measure the length of the curved line, the materials needed are 

 1. Thread and stop clock 

 2. Common balance and scale  

 3. Thread and scale  

 4.  Stop clock and common balance   

 ବକ୍ରନରଖୋର ନଦ୍ୈ ତୟ ମୋପ  ପୋଇେଁ ଆବଶ୍ୟକ ଉପକରଣ
  ସୂତୋ ଏବଂ ବରିୋମ  ଡ଼ି
  ସୋଧୋରଣ  କିତି ିଏବଂ ନସ୍କଲ
  ସୂତୋ ଏବଂ ନସ୍କଲ
  ବରିୋମ  ଡ଼ ିଏବଂ ସୋଧୋରଣ  କିତିି
 

122. On shaking the branch of a tree, the fruits fall down due to  

 1. Inertia of motion  

2. Inertia of direction  

 3. Inertia of rest  

 4. Pressure  

 ଗ୍ଛର ଶ୍ୋଖୋକୁ  ହଲ୍ୋଇବୋନବନଳ ନସଥିନର ଥିବୋ ଫଳଗୁ୍ଡ଼କି ତଳକୁ ଖସିବୋର 
କୋରଣ 

  ଗ୍ତନିର ଜଡ଼ତୋ
  ଦ୍ଗି୍ନର ଜଡ଼ତୋ
   ଶି୍ଚଳ ଜଡ଼ତୋ
  ଚୋପ


123. Work done will be zero, when the angle between force and 

displacement is 

 କୋଯତୟ ଶ୍ୂ  ନହବୋ ପୋଇେଁ ବଳ ଏବଂ ବସି୍ଥୋପ ର ମଧ୍ୟନକୋଣ 

 1. 0 

 2. 45 

 3. 180 

 4. 90 

 



124. Four identical tin cans are painted with different types of paint. 

They are heated to the same temperature and left in vaccum. 

Among the following the can which loose heat most quickly is  

 1. rough black painted tin can  

 2. shiny white painted tin can  

 3. shiny black painted tin can  

 4. rough white painted tin can   

 ଚୋନରୋଟ ିଏକୋ ପ୍ରକୋରର ଟନି୍ ଡବୋଗୁ୍ଡ଼କୁି ବଭିିନ୍ନ ପ୍ରକୋର ରଙ୍ନର ନଲ୍ପ  
କରୋଗ୍ଲ୍ୋ । ନସଗୁ୍ଡ଼କୁି  ସମୋ  ତୋପମୋତ୍ରୋ ପଯତୟନ୍ତ ଗ୍ରମ କରି ଶ୍ୂ ୟନର ଛୋଡ଼ ି
ଦ୍ଆିଗ୍ଲ୍ୋ ।  ମିନ ମଧ୍ୟରୁ ଶ୍ୀଘ୍ର ତୋପମୋତ୍ରୋ ହରୋଇଥିବୋ ଡବୋଟ ି

  ଖଦ୍ଡ଼ୋ କଳୋ ରଙ୍ନର ନଲ୍ପିତ ଡବୋ
  ଚକି୍କଣ ଧଳୋ ରଙ୍ନର ନଲ୍ପିତ ଡବୋ
  ଚକି୍କଣ କଳୋ ରଙ୍ନର ନଲ୍ପିତ ଡବୋ
  ଖଦ୍ଡ଼ୋ ଧଳୋ ରଙ୍ନର ନଲ୍ପିତ ଡବୋ

  



? 

? 

125. The time in the analog clock shows 10h.10m.10s. It’s image in 

plane mirror shows 

 ଏକ ସୋଧୋରଣ(କଣ୍ଟୋ ଥିବୋ) ଡ଼ନିର  ମି.ନସ. ସମୟକୁ ଦ୍ଶ୍ତୋଉଛ ି
। ସମତଳ ଦ୍ପତଣନର ଏହୋର ପ୍ରତବିମିେ ସୂଚୋଉଥିବୋ ସମୟ 

 1. 01.49.50 

 2. 02.49.50 

 3. 02.50.50 

 4. 10.10.10  

 

126. DC generator : commutator : : AC generator:  

 1. Carbon brush 

 2. Coil 

 3. Resistor  

 4. Slip rings  

 DC ନଜନ ନରଟରକମୁୟନଟଟରACନଜନ ନରଟର
  କୋବତ  ବ୍ରଷ୍
  ତୋର କୁଣ୍ଡଳୀ
  ପ୍ରତନିରୋଧକ
  ସିିପ  ରିଙ୍ଗ  



127. Match the element in SET-A with its ore given in SET-B 

  SET-A     SET-B 

 A. Ca  P. Gypsum 

 B. Mg  Q. Magnetite 

 C. Fe  R. Zincite  

 D. Zn  S. Magnesite   

 SET-Aନର ଥିବୋ ନମୌଳକିକୁ SET-Bନର ଥିବୋ ଧୋତୁପିଣ୍ଡ ସହ ନଯୋଡ଼

 SET-A     SET-B 

 A. Ca  P. ଜପି ସମ 

 B. Mg  Q. ମୟୋଗ୍ନୋଟୋଇଟ୍ 

 C. Fe  R. ଜଙି୍କୋଇଟ୍ 

 D. Zn  S. ମୟୋଗ୍ନୋସୋଇଟ୍
 1. A-P, B-Q, C-S, D-R 

 2. A-P, B-S, C-R, D-Q 

 3. A-P, B-S, C-Q, D-R 

 4. A-R, B-S, C-Q, D-P 


128. The incorrect statement about suspension.  

 1. It is a homogeneous mixture.  

 2. The particles of suspension can be seen with naked eye. 

 3. The particles of suspension can scatter the light.  

 4. The solute particles settle down when suspension is not  

  disturbed.  

 ସସ ନପନ୍ ସନ୍  ସହ ସମେନ୍ଧତି ସଠିକ    ଥିବୋ ଉକ୍ତିଟି
  ଏହୋ ଏକ ସମଜୋତୀୟ ମିଶ୍ରଣ ।
  ସସ ନପନ୍ ସନ୍  କଣିକୋଗୁ୍ଡ଼କୁି ଖୋଲି୍ ଆଖିନର ନଦ୍ଖିପୋରିବୋ ।
  ସସ ନପନ୍ ସନ୍ ର କଣିକୋଗୁ୍ଡ଼କି ଆନଲ୍ୋକ ବଚୁି୍ଛରିତ କନର ।
  ସସ ନପନ୍ ସନ୍ କୁ   ହଲ୍ୋଇ ରଖିନଲ୍ ଦ୍ରୋବୟକଣିକୋଗୁ୍ଡ଼କି ତଳକୁ 

ବସିଯୋଏ । 




129. The masses of potassium, carbon and oxygen are 39,12 and 16 

units respectively. The formula unit mass of potassium carbonate 

will be 

 ପଟୋସିୟମ , କୋବତନ୍  ଏବଂ ଅମଳଜୋ ର ପୋରମୋଣବକି ବସୁ୍ତତ୍ୱ 
ଯଥୋକ୍ରନମଏବଂଏକକ । ପଟୋସିୟମ  କୋନବତୋନ ଟ୍ ର ସନଙ୍କତ 
ଏକକ ବସୁ୍ତତ୍ୱ 

  1. 99u 

 2. 138u 

 3. 122u 

 4. 83u  

 

130. If a molecule has three covalent bonds around the nucleus of the 

central atom without any lone pairs, then the bond angle would 

be  

 ଯଦ୍ ିନଗ୍ୋଟଏି ଅଣୁନର ଥିବୋ ମଧ୍ୟସ୍ଥ ପରମୋଣୁର ନକନ୍ଦ୍ରକ ଚତୁଃଦ୍ଦିଗ୍ନର ତନି ୋଟ ି
ସହ ସଂନଯୋଜୀ ବନ୍ଧ ଥୋଇ,  ସିଙ୍ ଇନଲ୍କ ଟ୍ରନ୍  ନଯୋଡ଼ୋ  ଥିନଲ୍ ନସହ ିଅଣୁର 
ବନ୍ଧ ନକୋଣ ମୂଲ୍ୟ

 1. 180 

 2. 109.28 

 3. 120 

 4. 104.31 


  



131. Assertion(A):  During heavy rains, earth warms come out from  

   soil for respiration. 

Reason(R): When it rains heavily, water fills up all the  

   spaces occupied by the air in the soil. 

Choose the correct answer  

 1. Both ‘A’ & ‘R’ correct and ‘R’ is the correct  

  explanation of ‘A’ 

 2. Both ‘A’ & ‘R’ correct but ‘R’ is not correct explanation 

of ‘A’ 

 3. ‘A’ incorrect , ‘R’: correct  

 4. ‘A’ correct, ‘R’: incorrect  

 ଦୃ୍ନଢ଼ୋକ୍ତିAଭୀଷଣ ବଷତୋନହବୋ ସମୟନର, ଜଆିମୋନ  ଶ୍ୱୋସକ୍ରିୟୋ ପୋଇେଁ  
         ଭୂମି ଭିତରୁ  ବୋହୋରକୁ ଆସନ୍ତ ି 
 କୋରଣRଭୀଷଣ ବଷତୋନହବୋ ସମୟନର, ମୃତି୍ତକୋନର ବୋୟୁଦ୍ୱୋରୋ ପୂର୍ଣ୍ତ  
       ଖୋଲି୍ସ୍ଥୋ ନର ଜଳ ଦ୍ୱୋରୋ ପୂରଣ ନହୋଇଥୋଏ

ସଠିକ  ଉତ୍ତରଟ ିଚୟ  କର

 1. ଉଭୟ A ଓ  R ସତୟ ଏବଂ R, A ର ସଠିକ  ବୟୋଖୟୋ 
 2. ଉଭୟ A ଓ  R ସତୟ କନୁି୍ତ R, A ର ସଠିକ  ବୟୋଖୟୋ  ୁନହେଁ  
 3. A ଅସତୟ ; R ସତୟ 
 4. A ସତୟ ; R ଅସତୟ 
 

  



132. If the hydrogen ion concentration of a solution is 10−4moles/ lit, 

then the hydroxyl ion concentration would be  

 ଯଦ୍ ିନଗ୍ୋଟଏି ଦ୍ରବଣନର ହୋଇନରୋନଜନ୍  ଆୟ ର ଗ୍ୋଢ଼ତୋ 10−4  ନମୋଲ /ଲି୍, 

ନତନବ ହୋଇନରୋକ୍ସିଲ  ଆୟ ର ଗ୍ୋଢ଼ତୋ  
  1. 10−4 moles/lit 

 2. 10−14 moles/lit  

 3. 10−10 moles/lit 

 4. 10−7 moles/lit 

 

 

133. The “Gait of Animals” book written by    

 1. Aristotle  

 2. William Harvey  

 3. Leeuwen hoek 

 4. Theophrastus  

 "ଗ୍ୋଇଟ ଅଫ  ଅ ମିୋଲ୍ସ" ପୁସ୍ତକର ନଲ୍ଖକ  
  ଆରିରଟାଟଲ 
  ୱିଲିୟମ୍ ହାରଭ୍
  ଲିଉରୱନ ରହାକ୍

 ଥିଓଫ୍ରାଟସ୍ 


  



134. The chemical used in black reaction in tracing the processes  

 and most delicate ramification of cells is    

 1. Ammonium Hydroxide  

 2. Sodium Carbonate  

 3. Copper Sulphate  

 4. Silver Nitrate  

ବିୋକ  ରିଆକ୍ସନ୍  ପଦ୍ଧତନିର ନକୋଷର ପ୍ରକ୍ରିୟୋ ଏବଂ ଅତୟନ୍ତ ନକୋମଳ ଶ୍ୋଖୋକୁ 
ଚହି୍ନଟ କରିବୋନର ବୟବହୃତ ରସୋୟ  

  ଏରମାନୟିମ ହାଇରରାକ୍ସାଇଡ୍ 
  ରସାଡୟିମ୍ କାରବ୍ାରନଟ୍ 
  କପର ସଲରଫଟ୍  
  ସଲି ଭର ନାଇରେଟ୍ 

135 Assertion(A): Excess intake of antibiotics can kill useful     

   microorganisms in our body 

 Reason(R): Anibiotics are made from Fungi and Bacteria 

Choose the correct answer        

 1. A is correct: R is incorrect  

 2. A is incorrect; R is correct  

 3. A and R both are correct; R is correct explanation of A 

 4. A and R both are correct; R is not correct explanation of 

A  

 ଦୃ୍ନଢ଼ୋକ୍ତିAଅଧିକ ପରିମୋଣନର ଅଣୁଜୀବ ୋଶ୍ୀ ଖୋଇବୋ ଦ୍ୱୋରୋ  

                  ଶ୍ରୀରନର ଉପକୋରୀ ଅଣୁଜୀବ ମୃତୁୟ ନହୋଇଯୋଆନ୍ତି

କୋରଣR କବକ ଏବଂ ବୀଜୋଣୁରୁ ଅଣୁଜୀବ ୋଶ୍ୀ ପ୍ରସୁ୍ତତ କରୋଯୋଏ

 ସଠିକ  ଉତ୍ତରଟ ିଚୟ  କର

 1. A ସତୟ; R  ଅସତୟ 
 2. A ଅସତୟ ; R ସତୟ 
 3. ଉଭୟ A ଓ  R ସତୟ ;R ନହଉଛ ିA ର ସଠିକ  ବୟୋଖୟୋ 
 4. ଉଭୟ A ଓ  R ସତୟ ; R, A ର ସଠିକ  ବୟୋଖୟୋ  ୁନହେଁ
 



136. Identify the crops grown between October to March   

 1. Linseed & Maize  

 2. Soyabean & Maize 

 3. Maize & Mustard  

 4. Mustard & Linseed  

 ଅନକଟୋବର ଏବଂ ମୋଚତ ମୋସ ମଧ୍ୟନର ଚୋଷ କରୋଯୋଉଥିବୋ ଫସଲ୍କୁ ଚହି୍ନଟ କର 
  ଅତସୀ ଓ ମକୋ
  ନସୋୟୋବନି୍ ଓ ମକୋ
  ମକୋ ଓ ନସୋରିଷ

 ନସୋରିଷ ଓ ଅତସୀ


137. The food item that is rich in vitamin ‘C’ is    

 1. Mirchi 

 2. Liver 

 3. Wheat  

 4. Paneer  

 ଏହ ିଖୋଦ୍ୟନର ଭିଟୋମିନ୍  -  C ଅଧିକ ପରିମୋଣନର ଥୋଏ
  ମରିଚ
  ଯକୃତ
  ଗ୍ହମ

 ନଛ ୋ  



138. This occurs during exhalation 

 1. The ribs move forward and diaphragm contracts  

 2. The ribs move forward and diaphragm relaxes  

 3. The ribs move backward and diaphragm contracts  

 4. The ribs move backward and diaphragm relaxes 

  ଃିଶ୍ୱୋସ ସମୟନର ଏହୋ  ନଟ  

  ବେୋସ୍ଥି ଆଗକୁ ଚଳ  ହୁଏ ଏବଂ ମଧ୍ୟଚ୍ଛଦ୍ ସଂଙୁ୍କଚ  ହୁଏ

  ବେୋସ୍ଥି ଆଗକୁ ଚଳ  ହୁଏ ଏବଂ ମଧ୍ୟଚ୍ଛଦ୍ ଶ୍ିଥିଳ  ହୁଏ

  ବେୋସ୍ଥି ପଛକୁ ଚଳ  ହୁଏ ଏବଂ ମଧ୍ୟଚ୍ଛଦ୍ ସଂଙୁ୍କଚ  ହୁଏ

  ବେୋସ୍ଥି ପଛକୁ ଚଳ  ହୁଏ ଏବଂ ମଧ୍ୟଚ୍ଛଦ୍ ଶ୍ିଥିଳ  ହୁଏ


139. The rate of heart beat in infants of 3-6 months age    

 ମୋସ ବୟସର ଶ୍ିଶ୍ୁଙ୍କ ହୃତ ସ୍ପନ୍ଦ  ହୋର 

 1. 100-150 

 2. 90-120 

 3. 80-120 

 4. 60-100 

 

 

 

 

 

 

 

 

 

 

 

 

 



140. Find the correctly matched pairs 

A) Flame cells - Annelida  

 B) Nephridia  - Platyhelminthes   

 C) Renette cells  - Nematoda 

 D) Meta nephridia   - Mollusca  

 1. A and B 

 2. C and D 

 3. A and C 

 4. B and D  

 ସଠିକ ନମଳଟ ିଚହି୍ନଟ କର 

 A) ଶ୍ିଖୋନକୋଷ  - ଆ ଲିି୍ଡ଼ୋ  

 B) ନ େିଡଆି  - ପିୋଟନିହଲ ମିନି୍ଥସ 

 C) ନରନ ଟ୍  ନକୋଷ - ନ ମୋନଟୋଡୋ 

 D) ନମଟୋନ େିଡିଆ - ନମୋଲ୍ସ୍କୋ 

 1. A ଓ B 

 2. C ଓ D 

 3. A ଓC 

 4. B ଓ D
 

 

  



141. The parts of hind brain are  

 A) Diencephalon   B) Medulla Oblongata  

 C) Cerebrum   D) Cerebellum  

 1. A and C 

 2. B and D 

 3. A and D 

 4. B and C 

 ପଶ୍ଚ ମସି୍ତଷ୍କର ଅଂଶ୍ଗୁ୍ଡ଼କି ଯଥୋ-

 A) ଡୋୟନ୍ ନସଫଲ୍ନ୍    B) ସୁଷମନୋଶ୍ୀଷତକ 

 C) ପ୍ରମସି୍ତଷ୍କ    D) ଅ ୁମସି୍ତଷ୍କ 

 1. A ଓ C 

 2. B ଓ D 

 3. A ଓ D 

 4. B ଓ C  


142. Match the following  

 A) Prophase   -  i) Chromosomes moves to equator 

 B) Metaphase     -  ii) Duplication of chromosome 

 C) Anaphase   -  iii) Nuclear membrane disappears  

 D) Interphase  -  iv) Chromatids pulled towards poles   

 ନମଳ କର

A) ଆଦ୍ୟ ଅବସ୍ଥୋ  -  i) ଗୁ୍ଣସୂତ୍ରଗୁ୍ଡ଼କି ମଧ୍ୟ ଅଞ୍ଚଳକୁ ଗ୍ତ ିକରିଥୋନ୍ତି 

 B) ମଧ୍ୟୋବସ୍ଥୋ     -      ii) ଗୁ୍ଣସୂତ୍ରର ପ୍ରତରୂିପ  ହୁଏ 

C) ଉତ୍ତରୋବସ୍ଥୋ  -  iii)  ୟଷ୍ଟିଝଲି୍ଲୀ ଅଦୃ୍ଶ୍ୟ ନହୋଇଯୋଏ  

 D) ଅନ୍ତରୋବସ୍ଥୋ   -  iv) ନକ୍ରୋମୋଟଡ଼ିଗୁ୍ଡ଼କି ନମରୁପନଟ ଟୋନଣ
 1. A) iii , B) i , C) iv , D) ii  

 2. A) i , B) ii , C) iii , D) iv  

 3. A) iii , B) iv , C) ii , D) i  

 4. A) iv , B)ii , C) i , D) iii
  



143. The gases that causes Greenhouse effect 

A) Sulphur dioxide   B) Water vapour 

 C)  Nitrous oxide   D) CNG 

 1. A and D 

 2. B and D 

 3. A and C 

 4. B and C  

 ସବୁଜ ନକୋଠରୀ ପ୍ରଭୋବ ସୃଷ୍ଟି କରୁଥିବୋ ଗ୍ୟୋସ 
 A) ସଲ ଫର  ଡୋଇଅକ୍ସୋଇଡ   B) ଜଳୀୟ ବୋଷ୍ପ 

 C)   ୋଇଟ୍ରସ  ଅକ୍ସୋଇଡ   D) CNG 

 1. A ଓ  D 

 2. B ଓ D 

 3. A ଓ  C 

 4. B ଓ C

144. Areas reserved for wild life where they can freely use the 

habitats and natural resources.  
 1. National park 

 2. Biosphere reserve  

 3. Zoo 

 4. Wild life sanctuary  

 ଏହ ିସଂରେିତ  ଅଞ୍ଚଳନର ଜୀବଜନୁ୍ତମୋନ , ବୃେରୋଜ ିଏବଂ ପ୍ରୋକୃତକି ପରିନବଶ୍ 
ତଥୋ ସମ୍ପ୍ଦ୍କୁ ସ୍ୱଚ୍ଛନ୍ଦନର ବୟବହୋର କରିପୋରିନବ ।

  ଜୋତୀୟ ଉଦ୍ୟୋ 
  ଜୀବମଣ୍ଡଳ ସଂରେିତ ଅଞ୍ଚଳ 

  ଚଡ଼ିଆିଖୋ ୋ
 ଅଭୟୋରଣୟ




  



145. Incorrect statement regarding ‘nature of science’ among the  

 following is  

 1. It is a unique way of observing nature   

 2. It is a rapid expansion of knowledge hub 

 3. It believes in International comprehensive efforts   

 4. All proposed theories are permanent  

ନମିନଲିଖିତ ମଧ୍ୟରୁ 'ବଜି୍ଞାନର ପ୍ରକୃତ'ି ଅସମେନ୍ଧତି ଉକ୍ତିଟ ି
  ଏହା ପ୍ରକୃତକୁି ନରିୀକ୍ଷଣ କରିବାର ସ୍ୱତନ୍ତ୍ର ଉପୋୟ 
  ଏହା ଜ୍ଞାନ ରକନ୍ଦ୍ରର ଦୁତ ବସି୍ତାର 
  ଏହା ଆନ୍ତଃରାଷ୍ଟ୍ରୀୟ ବୟାପକ ପ୍ରୟାସରର ସମଥତ  କରର
  ଏଥିନର ପ୍ରସ୍ତାବିତ ସମସ୍ତ ସିଦ୍ଧାନ୍ତ ସ୍ଥୋୟୀ ଅନଟ  


146. This is not considered while preparing year plan    

 1. Text book  

 2. Teaching Learning Material  

 3. Additional classes  

 4. Number of periods  

 ବୋଷିକ ନଯୋଜ ୋ ରୂପୋୟ  କରିବୋନବନଳ ଏହୋକୁ ବନିବଚ ୋ କରୋଯୋଏ  ୋହିଁ
  ପୋଠୟ ବହି
  ଶ୍ିନେୋପକରଣ
  ଅତରିିକ୍ତ ନଶ୍ରଣୀ

   ିତଣ୍ଟ ସଂଖୟୋ


  



147. Weightage allotted to the academic standard ‘questioning and 

making hypothesis’ is 

 ’ପ୍ରଶ୍ନକରିବୋ ଓ ପରିକଳ୍ପ ୋ କରିବୋ’  ୋମକ ଶ୍ିେୋମୋ କୁ ଆବଣି୍ଟତ ଭୋରତ୍ୱ 
ପ୍ରତଶି୍ତ   
1. 10% 

 2. 15% 

 3. 40% 

 4. 25% 


148. The cognitive process involved in “ Presenting oral, written  

 information through diagrams” is      

 1. Creating  

 2. Analyzing  

 3. Applying 

 4. Understanding  

 ‘ନମୌଖିକ, ଲି୍ଖିତ ତଥୟକୁ ନରଖୋଚତି୍ର ଦ୍ୱୋରୋ ଉପସ୍ଥୋପ  କରିବୋ’ ନର ସଂପକୃ୍ତ  
ସଂଜ୍ଞୋ ୋତ୍ମକ ପ୍ରକ୍ରିୟୋ

  ସୃଷ୍ଟିକରିବୋ
  ବନିେଷଣ କରିବୋ
  ପ୍ରନୟୋଗ୍କରିବୋ 
  ଅବନବୋଧ


  



149. A test is giving same results, when it is conducted for several  

 times or corrected by different people. But is not fulfilling the  

 purpose for which it was designed. Then the test    

 1. has reliability, validity but not objectivity   

 2. has reliability, objectivity but not validity 

 3. has validity and objectivity but not reliability 

 4. does not have reliability, validity and objectivity  

 ଏକ ପରୀେୋ ଅନ କଥର  ବିତୋହ କନଲ୍ କମିେୋ ବଭିିନ୍ନ ବୟକ୍ତି ସଂନଶ୍ୋଧ  
କରିବୋନବନଳ ସମୋ  ଫଳୋଫଳ ଦ୍ଏି । କନୁି୍ତ ଏହୋ ଦ୍ୱୋରୋ ନସହ ିପରୀେଣର 
ଉନଦ୍ଦଶ୍ୟ ପୂରଣ ହୁଏ  ୋହିଁ । ତଥୋପି, ନସହ ିପରୀେୋଟି

  ବଶି୍ୱସନୀୟତା, ରବୈଧତା ଅଛ ିକନୁି୍ତ ବସୁ୍ତ ଷି୍ଠତୋ ନାହିଁ 

  ବଶି୍ୱସନୀୟତା, ଏବଂ ବସୁ୍ତ ଷି୍ଠତୋ ଅଛ ିକନୁି୍ତ ରବୈଧତା ନାହିଁ 

  ରବୈଧତା ଏବଂ ବସୁ୍ତ ଷି୍ଠତୋ ଅଛ ିକନୁି୍ତ ବଶି୍ୱସନୀୟତା ନାହିଁ

  ବଶି୍ୱସନୀୟତା, ରବୈଧତା ଏବଂ ବସୁ୍ତ ଷି୍ଠତୋ ନାହିଁ

150. ‘Micro Teaching is a scaled-down teaching encounter in class  

  size and time’ this was stated by    

 1. David B. Young 

 2. D.W. Allen 

 3. B.K. Passi 

 4. M.S. Lalitha  

 ‘ନଶ୍ରଣୀ ଆକୋର ଏବଂ ସମୟନର ହ୍ରୋସ କରୋଯୋଇଥିବୋ ଶ୍େିୋଦ୍ୋ  ଲ୍େୟ ହିଁ 
ସୂକ୍ଷ୍ମଶ୍ିେୋଦ୍ୋ ’ ନବୋଲି୍ କହଥିିନଲ୍

  ରଡଭିଡ୍ ବ.ି ୟଙ୍ଗ  
  ଡ.ିଡବ୍ ୟୟ ଆରଲନ୍
  ବ.ିରକ.ପାସି

 ଏମ୍. ଏସ୍. ଲଳତିା

 



